
I 0NR-0021 No. of Printed Pages : 6 

CERTIFICATE IN WATER HARVESTING AND 
MANAGEMENT (CWHM) 

Term-End Examination 	
00162 

June, 2016 

ONR-002 : BASICS OF HYDROLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt any five questions. All questions carry equal 

marks. Use of calculator is permitted. 

1. (a) Discuss different components of Hydrologic 
	

5 
Cycle with the help of a neat lebelled 
sketch. 

(b) What do you mean by rainfall intensity ? 2+3 
Classify it based on range. 

2. (a) Define evaporation and how it is 2+3 
measured. 

(b) How water table depth and soluble salts 	5 
affect the evaporation ? 

3. (a) What do you understand by water 2+3 
budgeting ? Write the water budget 
equation along with its different 
components. 

(b) Define seepage. What are the different 1+4 
factors affecting seepage ? 
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Differentiate between convective rainfall 	4 
and cyclonic rainfall. 
Calculate rainfall intensity for 10 and 30 	6 
minutes durations using the rainfall depth 
and storm times given below : 

Storm Time, 

nun 
0 10 20 30 40 50 60 

Cumulative 

precipitation, 

mm 
0 20 58 95 110 110 110 

5. (a) What do you understand by Volumetric 	5 
method of discharge measurement ? 
Compute the discharge of a rectangular 
channel if area of cross section and average 
velocity of flow is 400 cm2  and 0.06 rn/sec, 
respectively. 

	

(b) Explain curve number method of direct 	5 
run-off estimation. Compute potential 
maximum retention if curve number (CN) 
is 70. 

6. (a) Explain weighing bucket method for rainfall 	5 
measurement. 

	

(b) Explain Thiessen Polygon method used for 	5 
estimation of average rainfall. 

7. (a) What do you understand by dilution 	5 
process of effluent discharge, explain it and 
write equation along with its different 
components. 

	

(b) Explain ground water pollution and discuss 	5 
its impact also. 
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8. 	(a) Briefly discuss two physical and three 	5 
chemical characteristics of water. 

	

Describe water treatment process 	5 
undertaken at household level with the help 
of flow diagram. 

(b) 
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